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B = H1 1.500 m
75107 & () H2 0.200 m BI
MiE7-F B () H3 0.200 m il
Wm-F/r R () H4 0.200 m
B () Bl 0.200 m i
B E ( ) B2 0.200 m
EITaESES B3 0.000 m B 2
7-F0)" BT & B5 1200 m s
BN T 5 H5 0.150 m
B N > T g B7 0.150 m
s AR O E %
@)
Kh
A
V)b B T yec= 245 kK N/m>
CATTRNAL LA N ys= 18.0 kN/m?®
Y 1 DO PN BRI A ¢ = 30.0 fEf
TRENER RS tan ¢ g= 0.60 =%
HARFFAE X (ER)  ga= 50.79 k N/m?
Hit# oD K25 ) C= 0.0 kN/m?
pe WEF(LEET) § = 20.000
o EEE (A=) 8 = 20.000
j%; HERE (& 1) § = 15.000
s HUERE (- Lav))-}b) § = 15.000
) 3
X(m) Y(m) kNm) | | ;.3
10.000 0.000 5.000

H1

-4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15




®

KA B4 ERE T B4
1o E A ps kN pv= N/m
fEfm S yp= m xp = m
i b,= m
O O O
6 Xp Pv
AT AL R R T Oy = 21 N/mm®
B R T A e 7 O™ 7 N/mm’
TR AWTIS Tea 0.7 N/mm’
ERACIE SNYA):S Osq= 180 N/mm>
PR IS E T, = 2.1 N/mm®
e ) - VERBIRIG I E  tca= 0.26 N/mm>
7
BRAREEL SRR vy F | LS ESN A JE &
D (mm) D (mm) @ (mm) t(mm) A s (mm?) U(mm)
7= ChE (L 0) 10 250 60 285 120
(R 0. 00 m 10 250 60 285 120
Wit 7 —F > 7 10 250 60 285 120
7 —F HERT
8
a) AR LA R K O S EREEIC K > TR 5,
No X Y Xn+1 -Xn-1  fFmfE
1 0.000 0.000 -1.400 0.000
2 0.000 0.200 1.050 0.210
3 1.050 0.200 1.200 0.240
4 1.200 0.350 0.150 0.053
5 1.200 1.700 0.200 0.340
6 1.400 1.700 0.200 0.340
7 1.400 0.200 0.000 0.000
8 1.400 0.200 0.000 0.000
9 1.400 0.200 0.000 0.000 . S
10 1.400 0.000 -1.400 0.000 ! < I
{5 T FH 1.183
WERE O 17 i F A= 1183 2 = 0.592 m2 ‘
WREDTER w=A - yc = 0592 x24.50= 14.504 kN A4

[ (Ai - (AXi-23+Xi)

S/ (Ai-(AYi-13+Yi)

XA

XA

)
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@

a) fif EH SRIEfTE | VA EREE -pvh

(kN) (m) (kN-m)
UGN 14.486 1.013 14.674
A 1 0.000 1.400 0.000
& F 14.486 14.674
b)

THEOFHEITFIT SWEC R 2 HEEZ NS,

o=
j:
o=

TV EotE W=

RRLES

Pa=

20.000 (%) B

0.000 ()
55 (%)

18.212 kN

WXsin(a-¢)

T LSRR KA=2xPa/(ys -h’) =
KL JERE KH=Kaxcos(d + j ) =

FaE T AR AR

KV=Kaxsin(d + j ) =

0.000 (%)

H1

cos(a-¢-0-j) =7.726 kKN
0.297
0.279
0.102
B1
T g
/
/
/
s
B5 B
. M / /
1 4 3 [ B VD § 17




+ &N (m) =4/ (kN-m)
PH=1/2xh"2xys xKH 7.257 0.567 |My=PHxY 4.115
PV=1/2xh"2xys XKV 2.653 1.400 Mx=PVxX 3.714
OwH=0wxhxKH 2372 0.850 My=QwHxY 2.016
OwWV=0wxhxKV 0.867 1.400 | Mx=0wV*xX 1.214

h : 1.700 m
PH :
PV :
QwH :
Qwv
b 18.006 + 4.1180=22.124 kN
> 9.629 kN
M 13.471 —+ 2.395=15.866kN-m
(M: )
2)
e =B2—MN = 400 13866 = -0.017 m
2 22.124
B:
e B/6 = 0233 m OK
3
B ZEEE TR 0EE
AR OfEE 5 tang= 0.6 pu =tan¢B= 0.6
‘ut+C- . . + 0.
Fs — _NwiCB 22124 % 0.60 0000 0 is....NO
> H 9.629
(4)
B1
m
d=B/2 —e= 0.717 m
1 RS H1 <
x= B = 1.400 m | [
Ho M3 ‘ )
q;
| dg
— ]
ql,¢2=XV/B (1*6e/B)
q9:= 14.652  kN/m’ ! B
q,= 16.954 KN/m>

qa

50.79 kN/m2 £ W /N &Y ---- OK



R A A

A S Dfl= 0.600 m
BT (RFE yl= 18.00 kN/m’
W R
RANGES Df2= 0.200 m
BT (A B y2= 18.00 kN/m’
i oo FE i) T
e KM s 7 700.0 kN/m’
B AR 0= 30.0 J
i) c= 0.0 kN/m’
WL HE kR B= 1.400 m
EHE L= 1.000 m
W7 E R e $iE ) V= 22.12 kN
K7 HB= 9.63 kN
Rl e= -0.017 m
=SS ES))

Df1

Df2

e
BAMEE l\{ J

Qa=1/a*4e-(a K- C*Nc - Sc+K-q-Ngq - Sq+1/2 *y,*f+Be-Nr-Sr)
= 1/3x1.434x(1x1.042x0%9.25x1 +1.042%14.4x6.34%x0.886

+ 1/2 x18x1x1.434x1.92x0.887)
= 51 kN/m’

(Y
(v
o

a: LRP a=3
C : HuUHE D KEHE 7JkN/m2
q: b#HE (KN/m2)
q =yl * Dfl +y2 - D2 =
Ae : B ZNEA RS (m2)

14.400 (kN/m2)

de= Be - L = 1434 (m2)
Be : {0 % B & L 72 A O A 2N A (m)
Be =B-2 - ¢B = 1.434 (m)
op : FEREDOTERIR KL
o= 1.00
p= 1.00

K : R ANZhFAT KR D B LER%EL
K=1+0.3*Df/Be = 1.042

Ne,Ng,Nr : faf E O L% 5 J8 L 72 3CFRF AR %L

tan@ = HB/ V= 0.435
Nec=9.25
Nq = 6.34
Nr= 192
~HEZD RO EARK
I=v=u=13+93,
Se= (C) = 1.000
Sq= (q)" = 0.886

Sy= (B)" = 0.887

C'=C - C0o=C"10=
q'=q. " q0=q. 7 10=
B'=Be “B0)=Be 1=

0.000
1.440
1.434
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hy = 0.40 m

ys =  18.00 kN/m°
§ = 0.00 ()
c = 0.00 kN/m®
VB EERAR S = 0. 60

H1

Z 8+ E
2
Kp= /¢ g \/ - 5 2
cos6 WA 9)[ 1 \/5//7((0 5 = g ]
— 3,000
Pp= 5 ys-h’ - Kp = S X 18.0 X0.400 ? X3.000 =4.320 kN
Hk=  NwtC-B = 22124 x0.6 40000 = 13274
B2 HEA2EE LS 0OBEhLeR
0.5 k 0500 x4320 -+ 13274
Fs = L _ a 1603 215+ - - - OK

2 H - 9.629



@
a)
0= 20.000 ( )
J= 0.0000 ( )
a= 55( )
W= 14.179 kN
Q- 0.000 kN
+ X s1 -
pa = —WHQ) Xsinla ) =6.015 kN
s(a—¢—0—- 0. 583
KA=2XPa/(ys-h®) = 0.297
KH=KaXcos(Jd + j) = 0.279
KV=KaXsin(Jd + j) = 0.102
4 —
3 .
B1
2+ ™
/
Ve
- d
H1
BS B,
. M %
0 o o H3 { [ 4
,1 |-
-2
-4 -3 -2 -1 0 1 2 3
b
P= 0.000 kN
ER & yp= 1.500 m (7= CTEEREE S D@ &)
i EELIE b,= 0000 m
Im¥4 V) K& P,= 0.000  kN/m
C
(FH)
Hhife—x2 b g HI KH H1/2 1/2 y s HI"? KH H1/3 u 4.394
AW Qg HI KH 1/2y s HI? KH Pu 7.742
(FFRI#E)0.00 m a a /1 0.000
hiFeE—20k q H1 KH H1/2 1/2 y s H1'2 KH H1/3  u (H+Hp) 0.000
AW g HI KH 1/2y s H1? KH Pu 0.000

kNm/m
kN/m
kN
kNm/m
kN/m



Bl D10@250
AR S B2= 200

A 2N b= 1000
RS0 i= 60
B d= 140
i & A= 285
SIS U= 120

FAMT Lt —A 2 FAMERT D HEk R B & L CEAET .

7 // x/3
x=ki
....... _ %47
h A, d
/—)%
® 6 0 ¢
N L Vi A
WIREE  n=LS 15 B np=n—S- = 0.03054
Ec b-d
k:\/(np)2+2np —np = 0.218 j:l—%: 0.927
iFe—22k M= 439E+06 N-mm
AW S= 7.74E+03 N
a7 U — o e E
o % =22 N/mm?> < o¢ca= 7.0 N/mm?
N CIOLIE Al
(o) s 4 = 118.8 N/mm?> <  osa= 180.0 N/mm?
a7 U— koW AWS T E
T - = 0.055 N/mm’ < 1ca= 0.70 N/mm’
RE- IS
o = 0.497 N /mm2 < 1ca= 2.10 N /mm2
(FE#) 0. 00 m d= 140 mm [ ] D10@250
fHiFeE—22 M= 0.00E+00 N-mm A= 285
AW S= 0.00E+00 N U= 120
a7 U — b O ERMES S E K= 0218 j= 0927
2
o 7 =0.0 N/mm> < oca= 7.0 N/mm’
NIOEIE YAl
o g = 0.0 N/mm> < osa= 180.0  N/mm’
a7 U— koW AWIL T E
T - = 0.000 N/mrn2 <  1ca= 0.70 N/mIn2
750571
o —y = 0.000 N/mm? < 1a= 2.10 N /mm2

OK

OK

OK

++ OK

mm

OK

OK

OK

..OK
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S
H1 B5
Vo4
J V
o I [ y H4
a; Az
— ] |
qd4 ds
_ q2-ql
g3=ql + 7
_ q2-ql
qd=ql + ]
BHERD~TIE
H3= 0.20 m H2= 0.20
B= 1.40 m HS= 0.20
1, =B5= 1.20 m l,= 1.10
H &+ fiimm L
W1=H3yc +(hp-H3)ys=  4.90 + 3. 60 = 850
W2=H2yc +(hp-H2)ys = 4.90 + 3.60 = 8.50
W, W)l
Wi,=Ww,+ >, D 4900 + 3.6
BS
HiE
9= 14.65  kN/m’ q,= 16.95
q3= 16.63  kN/m? g4 16.46
AW
S =lIs/2 (q] +q4—WI1—W3) = 7.76  kN/m
ghifE—2 > bk
Im’/6 2 ql  WI w2 490 kN - m/m

10

DT LV L=H22 DN &
(= 0.100m

m
kN/m2

kN/m2

8. 50 kN/m2

KkN/m?
KN/m®



B i D10@250
Ay ©) @) ==X v
HA R = T= 200 200 mm
H5hE b= 1000 1000 mm
SREH IS i= 60 60 mm
s d= 140 140 mm
%’fﬁ%% AS: 285 285 rnm2
A F U= 120 120 mm
oI n=55 215 B ppon S _
Ec -d
Wi 2 B9 5 4R 4K
k
k :'d(np)24—2np —np= 0218 J =‘1—-?;:=
hiFE—2 2 b M= 4.90E+06 N-mm
AW S= 7.76E+03 N
oy 7 U — ko ERG S E
g % = 25 N/mm> <  oca= 7.0
B OB R T
B 2 _
o s 4 132.5 N/mm < o©ca 180.0
a7 U — koW WS E d 140 mm
o - = 0.055 N/mm> <  tca= 0.70
750571
o - = 0498 N/mm? < tca= 2.10

11

0.03054

0.927

N/mm?

N/mm?

N/mm?

N/mm2

OK

OK

OK

‘OK
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1) ZEFERSR
MRAIEH FHEAE TP HE
fix H -0.017 0.233 OK
FET) 16.95 50.8 OK
W 1.38 1.50 NO
A5 1.60 1.5 OK
2) IR EAE R
PRI BFpay ) - | B )-N | BRERISD |EAME S| fED
N/mm2 7.00 0.26 180.00 0.70 2.10
7= "CHE (JLER) 221 118.78 0.06 0.50
@ D10@250 OK OK OK OK
(FPREEE) 0. 00 m 0.00 0.00 0.00 0.00
D10@250 OK OK OK OK
B 7 —F 7 2.47 132.53 0.06 0.50
@ D10@250 OK OK OK OK
Y7 —F 7

Bl

M
®
H1
B5
Hel ™ hal —lm
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